28 MERCURY

Leadership through innovation

Micro Cylinders

Salient Features

e Unique design, Low friction,
Self adjusting, Double acting
‘T’ seal for Smooth, Jerk free motion.

e Precision honed barrel and super finished
piston rod for low friction and long seal life.

e Strokes up to 1000 mm.
e Serviceable type cylinders.

® Double ended and single acting spring return
models available against specific requests.

Mercury Pneumatics Pvt. Ltd.

C-105, Ansa Industrial Estate, Saki Vihar Rd, Andheri (E),
Mumbai - 400072. India. Phone: +91-22-40151020
ISO - 6432 E-mail: contactus@mercuryindia.net Website: www.mercuryindia.net




Leadership through innovation

~
EE THD'S \ BASIC DIMENSIONS EE THD'S
\ M + STROKE /
B THD'S
; XC + STROKE FOR DOUBLE
B THD'S N e
—=] N + STROKE ac
SW2
! / sw2 /— KK THD'S
KKTHD'S e s
o T T I o i e,
— e - - —== Cf M — —— —
Lt = ===
n A1
S 1 | oF
‘ L@G R L
. "
~—A | w P + STROKE A —=]
MODEL | PISTON | A B oc| D | E|ee| EE| @F | @G | H | K KK L{mM| N | P |[swi|sw2|w]|xc
No. Q THD’S BSP THD'S
M 12 12 |16 | M16x15| 6 | 20 |12|M5| - | 6 | 16 [17] 8 | Mex1 | 9 | 83| 24 66| 24 | 5 | 22] 75
M 16 16 |16 | M16x15| 6 | 22 |12 |M5| - | 6 | 22 |17| 8 | M6x1 | 9 | 90 |415| 73 | 24 | 5 | 22 | 82
M 20 20 | 20| M22x15 | 8 |254| 16 | - | 1/8°| 8.7 | 254 | 20 | 11 | M8x 1.25 | 12 |103|465| 83 | 32 | 7 | 24 | 95
M 25 25 |22| M22x15| 8 | 32 | 16| - | 1/8° [10.7[31.75] 22 [ 11 [M10x1.25] 12 [114[506] 92 | 32 | 9 | 28 [ 104
STANDARD STROKES STOCKED FOR QUICK DELIVERY : 10, 25, 40, 50, 80, 100, 125, 160, 200, 250 & 300 mm. )
ANGLE BRACKET —»H‘—C »‘ B [ )
{1 [} I [}
) OAB
— [—
(Yt i)
| |
[ ’l SA + o
XS
XA + l=~— AO e
CYL.
PART No. BORE |@AB|AO | B C [NH| R [SA|TR|US|XA | XS
7101602 | o2 55| 6 [2475( 4 |20 |13 | 79 32 | 42 | &7 | 32
@20 31.25 93 100 | 36
71-016-03 o B0 BB 6 ek ey | B e e e B
J
~— \
ROD CLEVIS
CYL. »‘ '«@CK
PART No. |gomi| A | B1 | B2 |CE|oCK|CM |oD| E |[ER| KK | LE [sw .
i | =E I =
212 = I
71-018-02 12| 12 [175|24| 6 | 6 |10| 4| 7 | Mex1 |12] 10 = —- |
16 @D KK 4 - | CM B2 | | |
71-018-03| @20 | 16| 16 [215[32| 8 | 8 | 13| 4 |10 |M8x1.25| 16 | 13 7?* $ i ‘
f s s
71-007-01| @25 [20| 20 | 26 |40 | 10 | 10 | 18| 5 | 12 [Miox 125 20 | 17 A= LE B1SQ
l~—CE ER
Y
N P\
FLANGE e CLEVIS FOOT
F4 H
& | | ;:%3 T R
ak 1T
= - = TF UF
= bt }\:93 ¢
(¥ L
=] H
- e LI ~
w Jd
[ ZF + O
PART No. ggF';'E c | E |oFB|TF|UF| W] zF PART No. é:giliiz A1 | A2 |A3|B1 | B2 |ct|c2| D |oFB| R
o12 212
71-017-02 R 4 | 30|55 40 |52 18| 77 71:015:02| gie | 13 | 15|25 (12.1| 23 | 3 27| 6 | 55| 7
220 19 | 88 @20
71-017-03 o5 5 |40 | 66|50 |66 | 0 | o 71-015-03| gop | 16 | 20 |32[16.1|295| 4 30| 8 | 66 |10
VAN J




	Page 1
	Page 2

